

CIRCLE OF CONVERGENCE FOR POWER SERIES

Link to: [physicspages home page](#).

To leave a comment or report an error, please use the auxiliary blog and include the title or URL of this post in your comment.

Post date: 17 February 2025.

A *power series* is a series of the form

$$P = \sum_{k=0}^{\infty} a_k (z - z_0)^k \quad (1)$$

The constants a_k are called the coefficients of the series.

The convergence of a power series is given by the following theorem.

Theorem 1. *For any power series there is a real number R between 0 and ∞ inclusive which depends only on the coefficients $\{a_k\}$ such that*

(i) the series converges for $|z - z_0| < R$. The circle $|z - z_0| = R$ is called the circle of convergence, and R is the radius of convergence.

(ii) the series converges uniformly in any closed subdisk $|z - z_0| \leq R' < R$.

(iii) the series diverges for $|z - z_0| > R$.

The proof of this theorem is quite technical and is given in Saff and Snider, Section 5.4.

Theorem 2. *Given a power series 1, suppose that*

$$\lim_{k \rightarrow \infty} \left| \frac{a_{k+1}}{a_k} \right| = L \quad (2)$$

Then the radius of convergence is given by

$$R = \frac{1}{L} \quad (3)$$

Proof. We use the ratio test which states that for a series

$$S = \sum_{k=0}^{\infty} c_k \quad (4)$$

if

$$\lim_{k \rightarrow \infty} \left| \frac{c_{k+1}}{c_k} \right| = A \quad (5)$$

then the series converges if $L < 1$ and diverges if $L > 1$. Applying this to 1 we take

$$c_k = a_k (z - z_0)^k \quad (6)$$

so that

$$\lim_{k \rightarrow \infty} \left| \frac{c_{k+1}}{c_k} \right| = \lim_{k \rightarrow \infty} \left| \frac{a_{k+1} (z - z_0)^{k+1}}{a_k (z - z_0)^k} \right| \quad (7)$$

$$= L |z - z_0| \quad (8)$$

Requiring this to be less than 1, we have

$$L |z - z_0| < 1 \quad (9)$$

so

$$|z - z_0| < \frac{1}{L} \quad (10)$$

Thus the radius of convergence is $R = \frac{1}{L}$. \square

Here are a few examples of this theorem. Closed formulas for the series were obtained using Maple, where possible.

Example 1. For

$$\sum_{k=0}^{\infty} k^3 z^k \quad (11)$$

we have $z_0 = 0$ and $a_k = k^3$ so

$$\lim_{k \rightarrow \infty} \left| \frac{a_{k+1}}{a_k} \right| = \lim_{k \rightarrow \infty} \frac{(k+1)^3}{k^3} \quad (12)$$

$$= \lim_{k \rightarrow \infty} \frac{k^3 + 3k^2 + 3k + 1}{k^3} \quad (13)$$

$$= 1 \quad (14)$$

The circle of convergence is

$$|z| = 1 \quad (15)$$

This series in closed form is (for $0 < z < 1$):

$$\sum_{k=0}^{\infty} k^3 z^k = \frac{z(z^2 + 4z + 1)}{(z-1)^4} \quad (16)$$

Example 2. For

$$\sum_{k=0}^{\infty} 2^k (z-1)^k \quad (17)$$

we have $z_0 = 1$ and $a_k = 2^k$ so

$$\lim_{k \rightarrow \infty} \left| \frac{a_{k+1}}{a_k} \right| = \lim_{k \rightarrow \infty} \frac{2^{k+1}}{2^k} = 2 = L \quad (18)$$

The circle of convergence is

$$|z-1| = \frac{1}{L} = \frac{1}{2} \quad (19)$$

This is a geometric series with sum (for $|z-1| < \frac{1}{2}$):

$$\sum_{k=0}^{\infty} 2^k (z-1)^k = \frac{1}{3-2z} \quad (20)$$

Example 3. For

$$\sum_{k=0}^{\infty} k! z^k \quad (21)$$

we have $z_0 = 0$ and $a_k = k!$ so

$$\lim_{k \rightarrow \infty} \left| \frac{a_{k+1}}{a_k} \right| = \lim_{k \rightarrow \infty} \frac{(k+1)!}{k!} \quad (22)$$

$$= \lim_{k \rightarrow \infty} (k+1) \quad (23)$$

$$= \infty \quad (24)$$

Thus the circle of convergence is the single point $z = 0$ and the series diverges for any other value of z .

Example 4. For

$$\sum_{k=0}^{\infty} \frac{(-1)^k k}{3^k} (z-i)^k \quad (25)$$

we have $z_0 = i$ and $a_k = \frac{(-1)^k k}{3^k}$ so

$$\lim_{k \rightarrow \infty} \left| \frac{a_{k+1}}{a_k} \right| = \lim_{k \rightarrow \infty} \left| \frac{(-1)^{k+1} (k+1)}{3^{k+1}} \times \frac{3^k}{(-1)^k k} \right| \quad (26)$$

$$= \lim_{k \rightarrow \infty} \frac{k+1}{3k} \quad (27)$$

$$= \frac{1}{3} \quad (28)$$

Thus the circle of convergence is

$$|z - i| = 3 \quad (29)$$

The sum is (for $|z - i| < 3$):

$$\sum_{k=0}^{\infty} \frac{(-1)^k k}{3^k} (z - i)^k = \frac{-3z + 3i}{(z + 3 - i)^2} \quad (30)$$

Example 5. For

$$\sum_{k=1}^{\infty} \frac{(3-i)^k}{k^2} (z+2)^k \quad (31)$$

we have $z_0 = -2$ and $a_k = (3-i)^k / k^2$ so

$$\lim_{k \rightarrow \infty} \left| \frac{a_{k+1}}{a_k} \right| = \lim_{k \rightarrow \infty} \left| \frac{(3-i)^{k+1}}{(k+1)^2} \times \frac{k^2}{(3-i)^k} \right| \quad (32)$$

$$= \lim_{k \rightarrow \infty} \left| (3-i) \frac{k^2}{(k+1)^2} \right| \quad (33)$$

$$= \sqrt{10} \lim_{k \rightarrow \infty} \left| \frac{1}{1 + 2/k + 1/k^2} \right| \quad (34)$$

$$= \sqrt{10} \quad (35)$$

Thus the circle of convergence is

$$|z + 2| = \sqrt{10} \quad (36)$$

Maple couldn't find a closed form for this series.

Example 6. For

$$\sum_{k=0}^{\infty} \frac{z^{2k}}{4^k} \quad (37)$$

In this case, the series is a geometric series of form

$$\sum_{k=0}^{\infty} c^k = \sum_{k=0}^{\infty} \left(\frac{z^2}{4}\right)^k \quad (38)$$

which converges if $|c| < 1$, so we must have

$$\left|\frac{z^2}{4}\right| < 1 \quad (39)$$

or

$$|z| < 2 \quad (40)$$

Thus the circle of convergence is

$$|z| = 2 \quad (41)$$

The series is (for $|z| < 2$):

$$\sum_{k=0}^{\infty} \frac{z^{2k}}{4^k} = \frac{4}{4 - z^2} \quad (42)$$

PINGBACKS

Pingback: [Power series solutions of differential equations](#)

Pingback: [Hypergeometric series](#)

Pingback: [Upper limit for sequences](#)

Pingback: [Laurent series](#)